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B TERE | BETRE | BHATE | ATE
19804 526,617 27,373 319,108 118,578 61,558
Tk 19854 524,874 26,925 299,311 131,748 66,890
it 19904 597,155 17,365 320,592 170,306 88,892
& 19954 446,068 6,874 186,990 150,926 101,278
;| x 19964 430,995 5,667 170,925 145,360 109,043
— 19974 424,060 5,466 160,788 139,903 117,903
A 19984 402,761 5,045 148,135 127,237 122,344
- 19994 352,469 4,289 123,815 106,756 117,609
20004 324,196 3,806 110,185 93,150 117,055
19804 554,776 40,042 280,585 10,578 223,571
Tk 19854 538,778 43,602 264,601 9,122 221,453
53 19904 585,446 37,457 301,738 10,923 235,328
& 19954 478,941 18,120 220,924 10,164 229,733
| B 19964 461,745 16,158 206,694 10,116 228,777
— 19974 449,746 16,042 192,175 10,161 231,368
A 19984F 428,848 14,941 179,537 9,152 225,218
~ 19994F 374,583 12,591 152,044 7,438 202,510
20004 338,152 11,097 136,889 6,503 183,663
19804 100.0 5.2 60.6 225 11.7
# 19854 100.0 5.1 57.0 25.1 12.7
53 19904 100.0 29 53.7 285 14.9
net 19954 100.0 1.5 41.9 33.8 22.7
~| % 19964 100.0 1.3 39.7 33.7 25.3
% 19974 100.0 1.3 37.9 33.0 278
~ 19984 100.0 1.3 36.8 31.6 304
19994 100.0 1.2 35.1 30.3 334
20004 100.0 1.2 34.0 28.7 36.1
19804 100.0 7.2 50.6 1.9 40.3
# 19854 100.0 8.1 491 1.7 411
X 19904 100.0 6.4 515 1.9 40.2
net 19954 100.0 3.8 46.1 2.1 48.0
~| BB 19964 100.0 3.5 448 2.2 495
% 19974 100.0 3.6 42.7 2.3 514
~ 19984F 100.0 3.5 41.9 2.1 525
19994 100.0 3.4 40.6 2.0 541
20004 100.0 3.3 40.5 1.9 543
19804 - 3.2 (83.1)] 45.6 (90.6)] 76.4 (83.1)] 65.7 (67.7)
Tk 19854 - 29 (78.0)| 434 (90.0)| 81.3 (83.1) 724 (75.4)
53 19904 - 1.8 (69.0)] 36.2 (88.6)] 88.1 (90.4)| 81.0 (85.1)
= 19954 - 0.9 (50.6)| 234 (76.7)] 66.0 (69.5)| 63.7 (68.6)
~| % 19964 - 0.8 (46.2)] 21.9 (74.0)| 66.5 (70.5)| 63.5 (68.3)
% 19974 - 0.7 (43.2)] 21.3 (73.2)|] 68.9 (73.4)| 64.8 (69.6)
— 19984F - 0.7 (38.7)] 205 (71.6)] 67.0 (71.9)| 64.5 (69.4)
19994 - 0.6 (32.3)] 18.1 (64.8)] 60.5 (65.3)] 59.8 (64.7)
20004 - 0.5 (29.3)] 16.5 (60.5)| 574 (62.5)] 57.1 (61.9)
19804 - 4.5 (86.2)| 40.2 (83.3)] 71.8 (80.6)| 78.5 (84.6)
Tk 19854 - 4.5 (88.3)| 38.7 (88.3)] 72.6 (82.4)| 78.8 (86.6)
53 19904 - 3.7 (79.8)| 34.2 (85.5)| 72.9 (83.2) 81.0 (90.1)
= 19954 - 2.2 (68.7)] 27.9 (79.6)| 57.3 (66.8)] 68.7 (78.5)
~| BB 19964 - 2.0 (66.0)| 26.7 (78.2)] 56.1 (67.2)] 67.1 (76.7)
% 19974 - 2.1 (65.0)] 25.7 (77.2)| 56.9 (68.5)| 675 (77.0)
— 19984 - 1.9 (60.3)] 25.0 (76.4)| 51.7 (65.5)| 66.2 (75.8)
19994 - 1.6 (52.8)| 224 (71.5)| 444 (58.7)| 60.3 (69.8)
20004 - 1.5 (49.9)| 20.7 (69.1)] 41.3 (54.5)| 55.0 (64.2)
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